
Physics 501-22
Assignment 2

1)Given two spin 1/2 (ie, two level) systems, one of the systems is supposed
to represent the states of an interferometer, the other a measuring apparatus.
The interferometer has two input arms in which a particle enters onto a half
silvered mirror. The σ3 eigenstates are supposed to represent which arm of the
interferometer the particle is in. The upper arm is the the σ3 =+1 eigenstate,
and the lower arm the σ3 =-1 eigenstate. The two half silvered mirror each
impliment the unitary matrix U = 1

√

2
(σ1 + σ3).

In addition we will place into the upper arm between the two half silvered
mirros a two level measuring apparatus, whose intial state is the -1 eigenstate
of Σ3. If the particle is in the upper arm between the two half silvered mirrors,
then the state of the apparatus goes from the lowest to the upper (+1) state
with amplitude cos(theta). If the particle is in the lower branch, the apparatus
remains in thelower (-1) state.

After the measurement, the particle goes through another half silvered mir-
ror.

Figure 1: The interferometer with upper path defined as the +1 eigenstate of
σ3 and -1 the lower. The second diffraction grating (grey) ”mirror” may or may
not be in place. The red trajectory is the particle coming in from the lower
(|−1〉

σ
) while the green comes in from above. (|1〉

σ
). The light green and light

red are superpositions an the two tracks. The diagram is if the second half
silvered mirror is in place. Otherwise the light tracks would continue through.
The red and green tracks have been displaced horizontally from each other just
to make them visible. In actuallity, they would follow the same paths between
the mirrors. The yellow box is where the interaction between the apparatus and
the particle takes place, while the blue is the apparatus in its initial state of of
Σ3 having value of -1.

a)σ3 is the operator which says whether or not the particle is in the upper
or lower region. Ie, if σ3 is measured, if the answer is +1, it is upper, if -1 it
is lower. Assuming that the initial state of the particle is |−1〉

σ3
. What is the

state of the particle just after it has gone through the first half-silvered mirror.

b) What is the state of the whole system after the particle has passed the
measuring apparatus?
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Show that

UM =
1

2
(sin(θ)IΣ + i cos(θ)Σ2)(Iσ + σ3) + IΣ(Iσ − σ3) (1)

is a Unitary matrix which impliments the above measurement protocol. (prove
that this is a Unitary matrix, and that it produces the needed result) IΣ and
Iσ are the unit matrices for the apparatus and particle respectively.

c) If the second half silvered mirror is in place, what is the state of the whole
system after that half silvered mirror?

d)If the second half-silverd mirror is in place, and the Σ3 attribute is of the
apparatus is measured and found to have value +1. what is the probability that
the particle will have been found to come out in the upper state?

e) What if instead the Σ1 attribute of the apparatus is measured and found
to have value +1. What will the probability be that the particle comes out the
upper state in the two cases of the second mirror?

Does it matter if the Σ1 is measured before or after the particle measurement
after it has exited the apparatus?for the answer to the last question?

f) What is the reduced density matrix for the particle after the measuring
apparatus but before the second half silvered mirror?

g) What is the reduced density matrix for the measuring apparatus after the
measurement interaction but before the half silved mirror?

2)Lets say we have a the state

|ψ〉 = sin(θ) |+, ↑〉+ cos(θ)(sin(φ) |−, ↑〉+ cos(φ) |−, ↓〉) (2)

In the lecture I chose sin(φ) = sin(θ)/cos(θ).
As in the lecture A and B are operators on the first system (its Hilbert space

is spanned by |+〉 , |−〉 while C and D are of the second spanned by |↑〉 , |↓〉. Lets
say that |±〉 are the eigenstates of A.

a) What is the reduced density matrix for the first and second systems.
b) What are the +1 eigenvectors For A, B, C, D which make up the Hardy

chain? Ie, if A is measured to have value +1, then C has value +1, If C has
value +1, then B has value +1. If B has value +1 then D has value +1.

c) What is the probability that, if A has value +1, then D has value +1?

3) No Cloning
Argue that there exists no single unitiary matrix which will transform (α |+〉+

β |−〉) |↓〉 to (α |+〉+ β |−〉)((α |↑〉+ β |↓〉)) for arbitrary (normalized) values of
β, α Ie, you cannot transform a clone a generic state. Why does problem 4 not
fall afoul of this theorem?

4). Bell states
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Given two 2-dimension systems, with basis states

|B1〉 =
1√
2
(|+〉 |↑〉+ |−〉 |↓〉) (3)

|B2〉 =
1√
2
(|+〉 |↑〉 − |−〉 |↓〉) (4)

|B3〉 =
1√
2
(|+〉 |↓〉+ |−〉 |↑〉) (5)

|B4〉 =
1√
2
(|+〉 |↓〉 − |−〉 |↑〉) (6)

Show that these are eigenstates of the operator

S = σ3Σ3 + 2σ1Σ1 (7)

where σi operate on the |+〉 , |−〉 subspace and Sigmai operate on the other
subspace, and |±〉 are the eigenstates of the σ3 and |l〉 of the Σ3.

What is the reduced density matrix for the σ system for each of these states.

——————————— Pauli Matrices

σ1 |+1〉 = |−1〉 ; σ1 |−1〉 = |+1〉 (8)

σ2 |+1〉 = i |−1〉 ; σ2 |−1〉 = −i |+1〉 (9)

σ1 |−1〉 = − |−1〉 ; σ1 |+1〉 = |+1〉 (10)
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